
1

2

3

4

56

7

8

9
10

11

12

13

14

15

15

16

17

18

19

22
22

23

23

24

25

26

27

27
28

29

30

31

32
33

34

36

39

42

43

44

45

46

47

48

48

49

49

50

51

54

55

56

57

58

59

35



32-CVXV-100-6-6-LN-000   CVXV-01194

POZICE NÁZEV POČET KUSŮ

1 Sací těleso 701 20180 1 1
2 Výtlačné těleso 702 19582 1 1
3 Spojovací těleso 702 19560 1 1
4 Převaděč 703 33370 1 5
5 Rozvaděč  703 18822 1 5
6 Oběžné kolo  702 14962 1 5
7 Hřídel 6° 702 19875 1 1
8 Pouzdro 18x12x12 19 463354 1
9 Kryt spojky 1 703 25968 1 2

10 Šroub M4x8 17 304598 4
11 Matice M16x1.5 704 58836 1 1
12 Zátka nálevky 704 48449 1 1
13 Opěrný kroužek 704 48397 1 1
14 Pero 5x5x28 17 312761 1
15 Pero 5x3x32 704 58563 1 6
16 Šroub M12x375 804 19143 3 4
17 Matice M12 17 314061 8
18 Podložka 13 17 316027 4
19 Šroub M8x25 17 303953 4
22 Zátka G1/4 17 312502 2
23 Těsnicí kroužek 13x19x1.5 17 943250 2
24 Těsnění 13x24x2 17 273235 1
25 Těsnění těles 114x106x0.15 17 925380 12
26 Dělený kroužek 704 48396 1 1
27 Pojistný kroužek 17 17 394140 2
28 Pojistný kroužek 47 17 395370 1
29 Mechanická ucpávka 17 522427 1
30 Elm 1LA7106-2AA,IMB14 FF165 16 462058 1
31 Půlspojka LKR75-16H7 804 52020 1 1
32 Půlspojka LKR75-28H7 804 52023 1 1
33 Vložka LKR75 17 275585 1
35 Šroub M6x16 17 307371 2
36 Ložisko 3303 2Z 17 620207 1
39 Gufero G 18-30-7 17 274090 1
42 Podložka 4.3 17 316007 4
43 Zátka G3/8 804 19081 1 1
44 Těsnicí kroužek 17x25x1.5 17 943320 1
45 Vložka 703 33121 1 1
46 Šroub M5x14 17 311545 2
47 Pouzdro 5067-13.2 19 463357 5
48 Šroub M16x55 17 303304 4
49 Matice M16 17 314072 4
50 Těsnicí kroužek  17 273450 1
51 Příruba DN32 PN16 804 32209 1 1
54 Kroužek 49x92x2 17 273499 1
55 Příruba DN40 PN16 804 32211 1 1
56 Šroub M5x8 17 311538 1
57 Těsnicí kroužek 9x6x1 17 943100 1
58 Rozvaděč 1° 604 58091 0 1

ČÍSLO VÝKRESU / 
ČÍSLO SKLADOVÉ 

POLOŽKY



59 Oběžné kolo 1° 702 19938 1 1


	CVXV-01194_32-CVXV-100-6-6-LN-000_ROZPAD.pdf
	List 1
	Views
	new_view_2



	CVXV-01194_32-CVXV-100-6-6-LN-000_TABULKA
	List1


	Legenda na další straně: Seznam náhradních dílů na další straně


